Sunday, April 07, 2019
4:49 PM
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Key

6.2 A - Law of Cosines

Homework: e Homework-pg 443 #3 and 13 only
e Quiz (.2 + Worel PROBLLMS ~ nexT FRI

Objective:

SWBAT: Use the Law of Cosines to solve oblique triangles (SSS & SAS)
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In an oblique triangle, when you are given either:
e 2sides and an included angle (SAS)

e 3 sides (SSS)
the Law of Cosines can be used to solve the triangle.

Standard Form Alternative Form

. & 240242

a’ =b° +c* -2bccos A cosA= -b4c--4
2pc

2 _.2,.2 - az+c?-p?

b°=a°+c° -2accosB cosB = P
2_p2

c’=a’* +b* -2abcosC cosC= -a*x+b~-C

2ab
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NOTE: Keep in mind when solving for angles....
e [f cosf > 0 (positive), then 0° <8 < 90° (acute angle)

e [f cosf < 0 (negative), then 90° < 6 < 180° (obtuse angle)
Recall rules for inverse trig....

arccos (-) arccos (+)
arcsin (+)
arctan (+)
S|A
T(C
arcsin (-)
arctan (-)
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Example 1: Solve AABC given A=55°,b=3,c=10

Round to nearest hundredth.

ta te:

If you use the Law of Cosines first,
DO NOT use the Law of Sines to
solve for an angle that MIGHT be

the largest angle!

Q%= b*+C?-2pc tos A
Q2= (3)*+ (10)* -2 (3) w0) (05 55°
Q% = 7958541382 4 Store in CkLC.

ax 8,649 /
CosC = 4 4bo¢ = 18o°- A-C
2ab ) .
Cos C=(2.63 )2+ 3%~ /02 B = 180° - 55°- 108.47
2( 8.63¢ )¢3) B % /4.52°
Cos™ (-)3/6775'6 ) =@
Ksm
~ /og,47°
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Example 2: Solve AABC given C = 23°,a =34, b =47.35

Round to nearest hundredth.

3
5“5/ gontq q - 3"‘
¢ e

Y b= H7 35

¢2=q%+ b*-2qb Cos C
e = (349)2 + (472.35)%-2 (34)(4235) Cos 23°
(2= 4349,1809124 “ oro
C = 20.337009¢49 & Sro
Cx 20,89 | & 570

Cos B= A*+c%-b%
ped
2a¢ z 4T?
Cos B= (34)*+ (20.84)*- (47.59*
2¢39)( .?o;gq)

cos' («.4¢o09 ) = B
Ksmo

8~ 117.39°

A= 18°-C-B
A= 180°-23°-/12.39"
A~ 39.¢/°

saving journal files Page 6



Your turn...
1.) Solve APQR given P=126°,q=68,r=82"

R
Pe:l'.53~3°
A
=0 YT Q
P r-:32-
P2=r2+9%-2rq Cos P

P2= (92)2+(c8)% -2(82)(¢8) Cos 12(°

P%= 17902.9%13 < 57D

Px 13380 | < 7o
CosR= f’-rﬁ- rt
2
P2 o

CosR = (133.80) > + (6&8)*-(82)°

2(133380)(68)

Cos™' ( .8484) = R
s

Rx 2972°

Q= 186° - R~
o= (86°-29.72°-126°

P

ein use law of
§ sines 1o find smy/lsy

oR P =12 97k
= J3inP 3inQ

Sini2e* S5/ng

Sin® = 683512
1338

Q%2428

Q< 3y,28°
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Closure...

Why is it important to find the
largest angle in a triangle using
the Law of Cosines?
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